A I = XK B &K FH =
_ No.1
B #
N INE EXEA INEt ait BEtHE | B | & B
I % -# B 8 % O 2 Q8 @ 6 6® @16 O ® @ ® ; ® ;
<LHBETRZIT>
TATT MV NEREERR 46 109 124] 265 285 11.8] 301 19| 36 115 29 56| 3.7]3551 509.1] 10.1 101 519.2 520
S%E R U B R 15cm T m
TATT M NEREE IR 16.8] 490] 626] 17.4 3768 16.3 16.8]1191.6 1747.3] 3134 3134| 20607 2,060
S 4E B B R 15ecm T m2
21.7] 109 274] 204 29 368 120.1 0.0 1201 120
SHLEERRBE P UNRAR) [TAI7VMEREERR m2
B 17] 49 63 17 336 0.8 0.8] 53.1 102.9] 142 14.2 1171 117
(#4H DIDEE) SB%ERR 1=22.0kmEA R m3
B 07/ 03 08/ 10 01] 18 47 0.0 47 5
(/MRS DIDEE) SB%ERR L=17.0kmBA R m3
07 03 1.7] 49 63| 17] 336/ 08 10 08 01 18 08] 531 107.6] 142 14.2 1218 122
LY TAI7IV iR (HEAI) m3
TERE WEMAE M-30 16.8] 49.0| 626 376.8 16.3 11916 1713.1[ 3134 3134 2,026.5 2,030
(HEEHT) ## 2 4 E30mm m2
TERE HEME M-30 17.4 204 368 16.8 914 0.0 91.4 91
(HERT) ## 2 4 E30mm m2
TERE #WREMA RC-30 21.7] 109 274 29 62.9 0.0 62.9 63
(HERT) ## 2 4 E30mm m2
EE (EE BB |BEMEMETRIV0) 16.8| 490| 626 376.8 505.2 0.0 505.2 505
(3.0mit#) HEE50mm, 7°F1LI—h m2
EE(EE BES) |BEHEMETRIV0) 17.4 17.4 0.0 174 17
(1.4mLL E3.0mEATF) |&H4EE50mm, 75443~ m2
=B (EE BB |BEBHETAIV(20) 16.8] 490| 626 376.8 505.2 0.0 505.2 505
(3.0mitB) F2EE50mm, 4y93-t m2
=B (EE BB |BEBHETAIV(20) 16.3 11916 1207.9 0.0 1,207.9 1,210
(3.0miB) EEE50mm, 7'3143—} m2
=B (EE BB |BEBHETAIV(20) 17.4 17.4 0.0 174 17
(1.4mLA F3.0mEATF) |&H2EE50mm, 4y)3—t m2
=B (EE BB |BEBHETAIV(20) 16.8 16.8 0.0 16.8 17
(1.4mLL E3.0mEATF) |&H4EE50mm, 754 Ad—+ m2
=B (EE BB |BEBHETAIVA3) 0.0{3134 3134 3134 313
(3.0miB) EEE50mm, 7'3443—} m2
=B (EE BB |(BEBHETAIVA13) 20.4 36.8 57.2 0.0 57.2 57
(1.4mLL E3.0mEATF) |#H4E[E50mm, 75443~ m2
=IE (FEKMHE) BARIETRIV(13) 21.7] 109 274 29 62.9 0.0 62.9 63
(1.4mLL £ 2 4AmK i) |&H%E[E30mm m2
BAEMMETAIV(13) 40 40 0.0 40 4
FAR-7 M EIRS1950cm2 L0 E215cm2k i m
<REET>
= (BA) W=15cm t=1.5mm 40 54/ 79 60 818 5.0 3154 4255| 37 3.7 4292 430
B XE R HAXRE HKIESHER m
5 (B) W=15cm t=1.5mm 172.0 172.0 0.0 172.0 170
B XE R HAXRE BoKiESREE m
£77(8) W=45cm t=15mm 28 30 374 432 0.0 432 43
B XE R HAXE HoKiESER m
KEN-325-XF(A) 15cmitE 422 422 0.0 422 42
B XE R HAXRE HoKMESHER m
AR XER 2EMHELI (F) t=1.5mm 21.3] 364 57.7 0.0 57.7 58
(h7-BEERT) HAXE HoKESES m2




A T = = &t g B
D (RE:HER) No.1
I & - # B 3 g = B | &
LEHEITHBZT>
TA77 Vb EEERR 4.60 4.6
Rl EEE15cmL T m
21.73 21.7
S RRBERE VNRIR) |TRA77IVMEEERR m2
BOE M 21.73x0.03=0.65 0.7
(/NEFE DIDEE) SRR L=17.0kmLLF m3
21.73x0.03=0.65 0.7
YA TA77 A BE (HEED) m3
TERIE #REMAE RC-30 21.73 21.7
(GFEMT) # B #ME30mm m2
=B (BEKME) BRI ETAIV(13) 21.73 21.7
(1.4mPL E2.4mKiE) |2 /E30mm m2




A I = E % ® =
QiR (FIE : HEED) No.2
I & - # B 3 g = B | &
LEHEITHBZT>
TA77 Vb EEERR 10.90 10.9
Rl EEE15cmL T m
10.90 10.9
S RRBERE VNRIR) |TRA77IVMEEERR m2
BOE M 10.90 X 0.03=0.32 0.3
(/NEFE DIDEE) SRR L=17.0kmLLF m3
10.90 X 0.03=0.32 0.3
YA TA77 A BE (HEED) m3
TERIE #REMAE RC-30 10.90 10.9
(GFEMT) # B #ME30mm m2
=B (BEKME) BRI ETAIV(13) 10.90 10.9
(1.4mPL E2.4mKiE) |2 /E30mm m2




P T = = &t g £
QiR (RIE:-HE) No.3
I % -# B pSi % g =K B | 8
LEHEITHBZT>
TA77 Vb EEERR 12.40 12.4
Rl EEE15cmL T m
TA77 VMR EE KR 16.80 16.8
A IR SRE15cmLL T m2
BOE M 16.80 X 0.10=1.68 1.7
(# 1, DID#E) SHEERR L=22.0kmLL T m3
16.80 X 0.10=1.68 1.7
YA TAI7IVh 8 (HE A m3
TERIE HWREMEAE.M-30 16.80 16.8
(BEMT) E 1t=30mm m2
HE (EE-BEL) |BEMEKETRAIV(0) 16.80 16.8
(3.0miB) EHEEE50mm, 774 L3—b m2
=B (EE - BER) |BEZTHETRAIV(20) 16.80 16.8
(3.0mi&) £ E50mm, 493} m2
BAMAETAIV(3) 4.00 4.0
FAN-7 BrmEmfE195cm2 Ll £ 215ecm2K i m
(RE#HRT)
E#&(H) W=15cm t=1.5mm [4.00 4.0
B X ER HAXME HoKMHERE m




P T = = &t g £
@igiR (RE HiE) No.4
I & - # B FS i g =K B | 8

LEHEITHBZT>

TA77 Vb EEERR 26.50 26.5
Rl EEE15cmL T m

TA77 WM ERZE R 48.96 290
A IR SRE15cmLL T m2
BOE M 48.96 X 0.10=4.89 4.9
(# 1, DID#E) %R L=22.0kmLL T m3

48.96 X 0.10=4.89 4.9

YA TAI7IVh 8 (HE A m3
TERIE HEMEA.M-30 48.96 490
(FEEmT) I $5t=30mm m2
HE (EE-BEL) |BEMEKETRAIV(0) 48.96 490
(3.0m#R) I [E50mm, 771 43—} m2
=B (EE - BER) |BEZTHETRAIV(20) 48.96 490
(3.0mi&) £ E50mm, 493} m2
(RE#HRT)

E#&(H) W=15cm t=1.5mm [5.40 5.4
B X ER HARXME HoKMHERE m

+'7'3(8H) W=45cm t=1.5mm [2.80 28
B X ER HAXME HoKMHERE m
B X ERR 2EMBELI(FKR) t=1.5mm 21.28 21.3
(h7-BBERT) HARRE #HkiiHEE m2




A T = = &t g B
Gt (RiE:-HE) No.5
I & - # B FS i g =K B | &
LEHEITHBZT>
TA77 Vb EEERR 28.45 285
Rl EEE15cmL T m
TAI7 VM ZE R 62.56 62.6
A IR SRE15cmLL T m2
BOE M 62.56 X 0.10=6.25 6.3
(# 1, DID#E) SHEERR L=22.0kmLL T m3
62.56 X 0.10=6.25 6.3
YA TA77 A BE (HEED) m3
TERIE HEMEA.M-30 62.56 62.6
(BEMT) E 1t=30mm m2
HE (EE-BEL) |BEMEKETRAIV(0) 62.56 62.6
(3.0miB) EHEEE50mm, 774 L3—b m2
=B (EE - BER) |BEZTHETRAIV(20) 62.56 62.6
(3.0mi&) £ E50mm, 493} m2
(RE#HRT)
E#&(H) W=15cm t=1.5mm [7.90 79
B X ER HARXME HoKMHERE m
+'7'3(8H) W=45cm t=1.5mm [3.00 3.0
B X ER HAXME HoKMHERE m
Bt X E R 2MEBETL (F) t=1.5mm 36.40 36.4
(h7-BBERT) HARRE #HkiiHEE m2




A I = E % ® =
@it (RIiE:-HE) No.6
I % -# B pSi % g =K B | 8
LEHEITHBZT>
TA77 Vb EEERR 11.80 11.8
Rl EEE15cmL T m
7277 WM EE R 17.40 17.4
A IR SRE15cmLL T m2
BOE M 17.40x0.10=1.74 1.7
(# 1, DID#E) SHEERR L=22.0kmLL T m3
17.40x0.10=1.74 1.7
YA TAI7IVh 8 (HE A m3
TERIE HWREMEAE M-30 17.40 17.4
(GFEMT) # B #ME30mm m2
HE (EE-BEL) |BEMEKETRAIV(0) 17.40 17.4
(1.4mLA E3.0mETF) |42 E50mm, 777143} m2
=B (EE - BER) |BEZTHETRAIV(20) 17.40 17.4
(1.4mL E3.0mELF) |EHZEES50mm, 4v93—F m2
(RE#HRT)
E42(8) W=15cm t=1.5mm [6.00 6.0
B X ER HARXME HoKMHERE m




P T = B = B g £
@B (ThiE : HiE) No.7
I & - # B FS i g = B | &
LEHEITHBZT>
TA77 Vb EEERR 25.10+5.00=30.10 30.1
Rl EEE15cmL T m
TAI7 VM ZE R 376.80 376.8
A IR HEE15cmLL T m2
BOE M 376.80 X 0.10-56.00 X 1.05 X 0.07=233.56 33.6
(# 1, DID#E) SHEERR L=22.0kmLL T m3
376.80 X 0.10-56.00 X 1.05 X 0.07=33.56 33.6
YA TA77 A BE (HEED) m3
TERIE HEME M-30 376.80 376.8
(BEMT) # B #ME30mm m2
HE (EE-BEL) |BEMEKETRAIV(0) 376.80 376.8
(3.0miB) EHEEE50mm, 774 L3—b m2
=B (EE - BER) |BEZTHETRAIV(20) 376.80 376.8
(3.0mi8) EHIEE50mm. 4yya—h m2
(RE#HRT)
=4 (8) W=15cm t=1.5mm [33.30+48.50=281.80 81.8
B X ER HAXE HKERHER m
+'7'5(8) W=45cm t=1.5mm [6.00+2.50+18.00+2.50+8.40=237.40 374
B X ER HAXE HKERHER m
KE-EEE-XF(BA)15cmiE |FREMFHRER :(16.50+18.64) X 1.20=42.16 42.2
B X ER HAXE HKERHER m




X I = g it B =
@R (738 : HEED) No.8
I & - # B 3 g = B | &
LEHEITHBZT>
TA77 Vb EEERR 1.90 1.9
Rl HEE15cmLLF m
27.40 27.4
S IREERE VNRAE) |TAZ7 VMR RR m2
BOE M 27.40 X 0.03=0.82 0.8
(/NEFE DIDEE) SRR L=17.0kmLLF m3
27.40 X 0.03=0.82 0.8
YA TA77 A BE (HEED) m3
TERIE HEMAE RC-30 27.40 27.4
(GFEMT) ## B A4 E30mm m2
=B (BEKME) BRI ETAIV(13) 27.40 27.4
(1.4mPL E2.4mKiE) |2 /E30mm m2




X I = g i = £
QiR (iE &) No.9
I % -# B F5i g =K B | 8
LEHEITHBZT>
TA77 Vb EEERR 3.60 36
Rl HEE15cmLLF m
20.40 20.4
S RRBERE VNRIR) |TRA77IVMEEERR m2
BOE M 20.40 X 0.05=1.02 1.0
(/NEFE DIDEE) SRR L=17.0kmLLF m3
20.40 X 0.05=1.02 1.0
YA TAI7IVh 8 (HE A m3
TERIE HEME M-30 20.40 20.4
(GFEMT) # B #ME30mm m2
=B (EE BER) |BEZTHETRIVA3) 20.40 20.4

(1.4mLL E3.0mLLTF)

A E50mm. 774 h3—b

m2




A T = = &t g B
DEB 4R (RE: HiE) No.10
I % -# B pSi % g =K B | 8
LEHEITHBZT>
TA77 Vb EEERR 11.50 115
Rl EEE15cmL T m
7277 WM EE R 16.25 16.3
A IR SRE15cmLL T m2
BOE M 16.25 X 0.05=0.81 0.8
(# 1, DID#E) SHEERR L=22.0kmLL T m3
16.25 X 0.05=0.81 0.8
YA TAI7IVh 8 (HE A m3
TERIE HWREMEAE M-30 16.25 16.3
(BEMT) # B #ME30mm m2
=B (EE - BER) |BEZTHETRAIV(20) 16.25 16.3
(3.0miB) EHEEE50mm, 774 L3—b m2
(RE#HRT)
F42(8) W=15cm t=1.5mm [5.00 5.0
B X ER HARXME HoKMHERE m




A T = = &t g B
g4 (RE: HER) No.11
I & - # B F5i g = B | &
LEHEITHBZT>
TA77 Vb EEERR 2.90 2.9

Rl EEE15cmL T m

2.90 2.9
S RRBERE VNRIR) |TRA77IVMEEERR m2
BOE M 2.90 X 0.03=0.08 0.1
(/NEFE DIDEE) SRR L=17.0kmLLF m3

2.90 X 0.03=0.08 0.1
YA TA77 A BE (HEED) m3
TERIE HEMAE RC-30 2.90 2.9
(GFEMT) # B #ME30mm m2
=2 (HEKMHE) BRI ETAIV(13) 2.90 2.9
(1.4mPL E2.4mKiE) |2 /E30mm m2




X I = g i = £
DB (ThiE  HiE) No.12
I % -# B F5i g =K B | 8
LEHEITHBZT>
TA77 Vb EEERR 5.60 5.6

Rl HEE15cmLLF m

36.76 36.8
S RRBERE VNRIR) |TRA77IVMEEERR m2
BOE M 36.76 X 0.05=1.83 1.8
(/NEFE DIDEE) SRR L=17.0kmLLF m3

36.76 X 0.05=1.83 1.8
YA TAI7IVh 8 (HE A m3
TERIE HEME M-30 36.76 36.8
(GFEMT) # B #ME30mm m2
=B (EE BER) |BEZTHETRIVA3) 36.76 36.8

(1.4mLL E3.0mLLTF)

A E50mm. 774 h3—b

m2




X I = g it B =
Qg4 (RE: HiE) No.13
I & - # B F5i g =K B | &

LEHEITHBZT>

TA77 Vb EEERR 3.70 3.7
Rl EEE15cmL T m

TA77 VMR EE KR 16.79 16.8
A IR SRE15cmLL T m2
BOE M 16.79 X 0.05=0.83 0.8
(# 1, DID#E) SHEERR L=22.0kmLL T m3

16.79 X 0.05=0.83 0.8

A5 TA77 bR (HEEID m3
TERIE HWREMEAE M-30 16.79 16.8
(GFEMT) # B #ME30mm m2
=B (EE - BER) |BEZTHETRAIV(20) 16.79 16.8

(1.4mLL E3.0mLLTF)

A E50mm. 774 h3—b

m2




A T = # = &t g B
WDig#R (RE: HiE) No.14
I & - # B FS i g = B | &
LEHEITHBZT>
TA77 Vb EEERR 328.55+26.50=2355.05 355.1
Rl EEE15cmL T m
TA77 VMR EE KR 1191.60 1,191.6
S IR AR HEE15cmLL T m2
BOE M 1191.60 X 0.05—308.90 X 1.05 X 0.02=53.09 53.1
(# 1, DID#E) SHEERR L=22.0kmLL T m3
1191.60 X 0.05—308.90 X 1.05 X 0.02=53.09 53.1
A5 TA77 A BE (HEED) m3
TERIE HWREMEAE M-30 1191.60 1,191.6
(BEMT) # B #ME30mm m2
=B (EE - BER) |BEZTHETRAIV(20) 1191.60 1,191.6
(3.0miB) EHEEE50mm, 774 L3—b m2
(RE#HRT)
F#(8) W=15cm t=15mm [24.40+291.00=315.40 315.4
Bk XER HAXE HKERHER m
B4 (B3) W=15cm t=1.5mm [165.00+7.00=172.00 172.0
Bk XER HAXE HKERHER




X I B % B i ® #
ORg#R (ThiE: HiE) No.15
I & - # B FS i g = B | &
LEHEITHBZT>
TA77 Vb EEERR 4.40+45.70=10.10 10.1
Rl EEE15cmL T m
TA77 VMR EE KR 313.40 3134
A IR SRE15cmLL T m2
BOE M 313.40 X 0.05—71.00 X 1.05 X 0.02=14.17 14.2
(# 1, DID#E) SHEERR L=22.0kmLL T m3
313.40 X 0.05—71.00 X 1.05 X 0.02=14.17 14.2
A5 TA77 bR (HEEID m3
TERIE HWREMEAE M-30 313.40 313.4
(BEMT) # B #ME30mm m2
=B (EE BER) |BEZTHETRIVA3) 313.40 3134
(3.0miB) EHEEE50mm, 774 L3—b m2
(RE#HRT)
E42(8) W=15cm t=1.5mm [3.70 3.7
B X ER HARXME HoKMHERE




o = i ;3
D4R (TE) No.1
EE
p: [ X fe FE Bt | EFB| F F 8| FEF B[ F e B8 | F¥H | £ % | EFH| F %
IEI= g 8 w8 g 8
No.0 6.90
+ 0.00
No.0 7.10 7.00 127.4
+ 18.20 18.20
No.0 5.75 6.43 6.4
+ 19.20 1.00
No.0 5.75 5.75 46
+ 20.00 0.80
No.0 6.00 5.88 117.6
+ 40.00 20.00
No.0 5.90 5.95 53.6
+ 49,00 9.00
No.0 5.35 5.63 0.0
+ 49,00 0.00
No.0 7.95 6.65 27.3
+ 53.10 4.10
No.0 7.10 7.53 39.9
+ 5840 5.30
376.8
N 58.40
376.8
&5 i 58.40
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@R (iE)

17 om

£

17 o

B

23.6

3.8

27.4
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1.90
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0.00

X[l BB Rt

12.40

4.00

16.40

16.40
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4

"

A

No.0

0.00

+

No.0

+ 12.40

No.0

+ 16.40
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P 2 =
D4R (238) No.1
ESCET
Al A X e B B | F 5] £ B B | F B[ F BB | FB]| F B |k E]|FH]| F §
g B g & g 8 g &
No.0 3.50
+ 0.00
No.0 3.50 3.50 9.1
+ 260 2.60
No.0 3.50 3.50 59.2
+ 19.50 16.90
No.0 3.50 3.50 1.8
+ 20.00 0.50
No.0 3.50 3.50 571
+ 36.30 16.30
No.0 3.50 3.50 13.0
+ 40.00 3.70
No.0 3.50 3.50 571
+ 56.30 16.30
No.0 3.50 3.50 13.0
+ 60.00 3.70
No.0 3.50 3.50 70.0
+ 80.00 20.00
No.1 3.50 3.50 70.0
+ 0.00 20.00
No.1 3.50 3.50 70.0
+ 20.00 20.00
No.1 3.50 3.50 56.7
+ 36.20 16.20
No.1 3.50 3.50 13.3
+ 40.00 3.80
No.1 3.50 3.50 70.0
+ 60.00 20.00
No.1 3.50 3.50 70.0
+ 80.00 20.00
No.2 3.50 3.50 70.0
+ 0.00 20.00
No.2 3.50 3.50 70.0
+ 20.00 20.00
770.3
I E 220.00




o = i ;3
DR (R58) No.2
EE
p: [ X fe FE Bt gE|FBH| ¥ B|REE|FH| F e B8 | F¥H | £ % E|F | FE %
IEI= g 8 w8 g 8
No.2 3.50 3.50 70.0
+ 40.00 20.00
No.2 3.50 3.50 441
+ 5260 12.60
No.2 3.50 3.50 25.9
+ 60.00 7.40
No.2 3.50 3.50 70.0
+ 80.00 20.00
No.2 5.10 4.30 0.0
+ 80.00 0.00
No.3 5.40 5.25 105.0
+ 0.00 20.00
No.3 5.40 5.40 62.1
+ 1150 11.50
No.3 5.00 5.20 44.2
+ 20.00 8.50
421.3
INOE 100.00
1191.6
&5 i 320.00




o = i ;3
DR (TE) No.1
EE
p: [ X fe FE Bt gE|FBH| ¥ B|REE|FH| F e B8 | F¥H | £ % | EFH| F %
IEI= g 8 w8 g 8
No.0 4.40
+ 0.00
No.0 4.30 4.35 87.0
+ 20.00 20.00
No.0 4.35 4.33 80.1
+ 38.50 18.50
No.0 4.25 4.30 0.0
+ 38.50 0.00
No.0 4.20 4.23 6.3
+ 40.00 1.50
No.0 4.20 4.20 235
+ 4560 5.60
No.0 4.30 4.25 0.0
+ 4560 0.00
No.0 410 4.20 60.5
+ 60.00 14.40
No.0 4.30 4.20 47.0
+ 71.20 11.20
No.0 5.70 5.00 9.0
+ 73.00 1.80
3134
N 73.00
313.4
&5 i 73.00




